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Pisemna ¢ast prijimaci zkousky z anglického jazyka varianta A
Studijni program / obor: Anglicky jazyk se zaméfenim na vzdélani — major/minor
1. Choose the best word to fill each of the numbered blanks in the text below. Write only
ONE word for each blank.

Mobile Phones

Some time ago, if we wanted to call someone, we (1) to do it at our homes. There
were public phones the street, but it was often difficult to find (2) that was working.
Sometimes, there were long queues before it (3) your turn to use them. In addition,
you had to bring a lot of coins to (4) for the calls. As a result, people were not used
to phoning their friends as often (5) they do today.

Today's mobile phones allow us to talk with friends and family (6) we are on the
move. They (7) dramatically changed the life we lead. Before the age of (8)

mobile phone, parents would sit around worried when their children would be coming home.
There (9) no quick calls to say that there would (10) more guests for
dinner. We left notes on fridges or desks to communicate. (11) , mobile phones have
also had a negative (12) on our lives. We often do not realize that we have lost

something very valuable: our privacy. Today, our friends and family can get in (13)

with us wherever and whenever they want to. We can never get (14) from them. The
way people communicate with (15) other is completely different now. It's not so easy
to sit in a café and have a casual conversation without (16) interrupted by a phone
call every few minutes. Most people don't see anything wrong (17) having a long

conversation on their mobile phone while forgetting about the person they are sitting (18)
to. A solution would be to leave our mobile phones at home or turn them (19)
completely, but nobody does that. Most people are (20) of missing

something important if they do not always have their phones with them.
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Answer Key

Had
One
Was
Pay
As
While / when
Have
The
Were
. Be

. However / nevertheless

© 0 N o g Bk~ w DN PE

e
N P O

. Effect / impact / influence

=
w

. Touch / contact

[EEN
ESN

. Away
. Each
. Being

e
~N o O

.In

. Next

. Off

. Afraid

I Y
o © o™

Celkovy pocet:
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2. Dopliite druhou vétu 2 az 5 vhodnymi slovy véetné tuéné vytiSténého vyrazu uvedeného
za prvni vétou tak, aby vyznam prvni véty zustal zachovan. Tvar daného vyrazu nesmite
meénit. StaZeny tvar (isn’t, hasn’t atd.) je povazovan za 1 slovo.

Priklad:
It is more difficult to express some feelings than others. easier

Some feelings _are easier to express than  others.

1. | prefer dancing to going to the cinema. rather
I would rather dance than go to the cinema.
2. | regret not teaching him how to behave. wish
I wish | had taught him how to behave.
3. We were happy that we did not have to come so early. enjoyed
We really enjoyed not having to come so early.
4. “When will you finish?”, she asked me. when
She wanted to know when | would finish
5. We expect the flight will arrive on time. expected
The flight is expected to arrive on time.
6. Peter, you have eaten all the cake!” said his mother. accused
Peter was accused of eating / having eaten _all the cake.
7. It was wrong of you to borrow his laptop without asking. should
You should have asked before you borrowed his laptop.
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8. Pay the flight this week if you want to leave for Canada next month. unless
You cannot/ won 't / can 't leave for Canada unless _ you pay the flight this week.
9. You mustn’t go to the club.”, Robin’s father told his son yesterday. let
Robin’s father did not let him / Robin go to the club.
10. It looks as if his wife has taken his credit card. seems
His wife seems to have taken his credit card.
11. I am sorry, | had no intention to annoy you. mean
I am sorry, | didn 't mean to annoy you.
12. When did they come to sit in that pub? long
How long have they been sitting in that pub?
13. I could not understand his explanations. sense
His explanations do not/don 't make sense to me.
14. Her daughter did not use to be so confident. than
Her daughter is much more confident than she used to be.
15. They did not buy the house because it was too expensive. too
The house was too expensive to be bought.
16. This is her first visit to our place. she
This is the first time she has visited our place
17. They do not waste their money, although they earn a lot. despite
Despite (them / their) earning a lot , they do not waste their money.
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18. She would prefer it if nobody else knew what she bought last week. want
She does not want anybody / anyone else to know what she bought week.

19. Living on his own is a new experience for John. getting
John IS getting used to living on his own.

20. His wife is upset because she does not get any flowers. flowers
If his wife got some flowers, she wouldn't be so upset.

Celkovy pocet:
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3. Ze ¢tyf moZnosti vyberte jedinou spravnou. Pismeno spravné odpovédi zaneste do
sloupce vpravo ke spravnému cislu. Jina odpovéd’ nebude hodnocena.

1. What is the capital of the Republic of Ireland?
a) Dublin
b) Glasgow
c) Cardiff
d) Belfast

2. Which of these has NEVER been a member of the Commonwealth?
a) Australia
b) New Zealand
c) Mexico
d) India

3. The maple leaf is the emblem of
a) lIreland
b) Australia
c) Canada
d) The USA

4. William Faulkner often wrote about
a) the life in medieval England
b) the life in Alaska
c) the life in the south of the USA
d) the 17th-century Puritans of New England

5. Which book of children’s literature does the character of the White Rabbit come
from?

a) Winnie-the-Pooh by A. A. Milne

b) Alice’s Adventures in Wonderland by Lewis Carroll

¢) Charlie and the Chocolate Factory by Roald Dahl

d) The Jungle Book by Rudyard Kipling
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10.

11.

Which of the following are NOT correctly matched?

a) The Call of the Wild — Yukon

b) Ulysses — Dublin

c) The Adventures of Tom Sawyer — the Mississippi River
d) Pygmalion — New York

Gulliver's Travels by Jonathan Swift are considered to be
a) A work of satire

b) An 18th-century drama

c) A collection of poems

d) An autobiography

The quotation "He loved Big Brother," is taken from
a) Alice in Wonderland by Lewis Carroll

b) Lucky Jim by Kingsley Amis

c) Nineteen Eighty-Four by George Orwell

d) Brave New World by Aldous Huxley

Benjamin Franklin was NOT

a) one of the founding fathers of the USA
b) a scientist and inventor

c) an American painter

d) adiplomat

Sir Edmund Hillary, a well-known mountaineer, was born in
a) the USA

b) Scotland

c) New Zealand

d) Australia

When did the Tudors reign in England?
a) 600-1066
b) 1066-1485

10.
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12.

13.

14.

15.

16.

c) 1485-1603
d) 1603-1714

Magna Carta was

a) an English legal document

b) the name of a ship carrying the Pilgrim Fathers to America

c) anickname of King Richard IlI

d) the 13th constitutional amendment leading to the abolition of slavery in the
USA

What is NOT true about the London Eye?
a) Itissituated in the Docklands.

b) It is Europe’s tallest observation wheel.
c) Itwas erected in 1999.

d) Itisalso called the Millennium Wheel.

Lake District is

a) in Northern Ireland

b) in North West England
c) near London

d) in Kent

A significant critic of Victorian social attitudes is
a) Charles Dickens

b) George Orwell

c) William Shakespeare

d) Tom Stoppard

The Statue of Liberty commemorates

a) 100" anniversary of Independence

b) 300" anniversary of the discovery of America
c) 10" anniversary of the Second World War

d) 100" anniversary of the Civil War

11.

12.

13.

14.

15.
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17.

18.

19.

20.

Manhattan Project was a research and development project that
a) focused on suburb planning

b) educated future politicians

c) promoted American film industry

d) produced the first atomic bombs

Tate Modern is

a) a Seattle concert hall where concerts of pop music are performed
b) a London gallery of modern art

c) a Washington gallery of sculptures

d) aNew York 21% century shopping mall

Tasmania is situated

a) in the Pacific Ocean
b) in the Irish Sea

c) south of Australia

d) in Hudson Bay

Royal Albert Hall in London is named after
a) Richard the Lionheart nicknamed Albert
b) Queen Victoria’ s husband

c) A famous English composer

d) Albert Einstein

Celkovy pocet:

16.

17.

18.

19.

20.
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